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m > O density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 7
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m > O density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 58
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m > O density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 62
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m > 0 density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 64
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m > O density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 65
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m > O density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 67
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m > O density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 75
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m > O density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 76
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m > O density —— Plummer smoothing o = 1/8 10 Meg dt = 1/80 at time = 79

PZF—T—T ——T T T T T T T T T T T T T T

424 by 512 polar grid
10 - O plot smoothing = 1/4

single time zone

min = —1.177x107* 5§ = 1.569%x107° max = 1.002x10™*

12 B 1 A 1 A 1 A 1 A 1 A 1 A 1 A 1 . 1 . 1 . 1

-12 -10 -8 -6 —4 -2 0 2 4 6 8 10
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m > O density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 83
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m > O density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 91
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m > O density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 92
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m > O density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 96
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-—F7F 77— 77— 77—
424 by 512 polar grid
plot smoothing = 1/4 1
O single time zone
min = —1.514x10™* & = 2.066x107° max = 1.55x107*
P T N R T SR T T R S T S -
-12  -10 -8 -6 -4 -2 0 2 4 6 8 10 12



12

10

-10

-12

m > 0 density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 104
H T T T T T T T T T T T T T T T T T T T =
424 by 512 polar grid
I~ plot smoothing = 1/4 1
O single time zone i
min = —1.654x10™* & = 2.206x107° max = 1.586x107*
It L 1 L 1 L 1 L 1 L 1 L 1 1 1 L 1 L 1 L 11
-12  -10 -8 -6 -4 -2 0 2 6 8 10 12



12

10

-10

-12

m > O density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 105
H T T T T T T T T T T T T T T T T T T =
424 by 512 polar grid
I~ plot smoothing = 1/4 1
O single time zone i
min = —1.626x10™* & = 2.168x107° max = 1.536x107*
It L 1 L 1 1 L 1 L 1 L 1 1 1 L 1 L 1 L 11
-12  -10 -8 -6 -4 -2 0 2 6 8 10 12



12

10

-10

-12

m > O density —— Plummer smoothing o

dt = 1/80 at time =

§ = 2.512x107°

min = —1.682x107*

424 by 512 polar grid
plot smoothing = 1/4
single time zone

max = 1.884x107*

6 8 10




12

10

-10

-12

m > O density —— Plummer smoothing o

dt = 1/80 at time =

§ = 2.491x107°

min = —1.782x107*

424 by 512 polar grid
plot smoothing = 1/4
single time zone

max = 1.868x107*

[e)]

8 10




12

10

-10

-12

m > 0 density —— Plummer smoothing ¢ = 1/8

dt = 1/80 at time =

§ = 2.356x107°

min = —1.733x107*

424 by 512 polar grid
plot smoothing = 1/4
single time zone

= 1.767x107*

6 8 10




12

10

-10

-12

m > 0 density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 109

H T T T T T T T T T T T T T =
424 by 512 polar grid

I~ plot smoothing 1/4 1

| O single time zone

| min = —1.714x10™% 6 = 2.457x107° max = 1.843x107*

It 1 L 1 1 1 1 1 1 L 1 1 11

-12  -10 -8 -6 -4 -2 2 6 8 10 12



m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 110
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 117
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m > 0 density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 119
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at time

dt = 1/80

10 Meg

m > 0 density —— Plummer smoothing ¢ = 1/8

H T T T T T T T T T T T H
23,
L S>¢ |
@]
r N
o |l
e (]
0]
a2¢e ¥
L == m
NEs o
o9 —
0 o o X
m,m.m -
| oo o~ i
™ !
N -
<+ a I
x
L S) m
€
— R,u —
o
S —
X
Z
L 5 m
Il
- “«© -
b
- (@) -
X
M
N~
|
Il
L £ i
o €
L o m
ul 1 1 1 1 1 . 1 1 1 . 1 1 1 H
o~ o © © < o~ o o~ < © [oe] o o~
-~ -~ | | | | ._| ._|

12

10

-10

-12



12

10

-10

-12

m > O density ——

Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 152

u T T T 1 T T T T T T T =
424 by 512 polar grid

I~ plot smoothing = 1/4 1
O 0 0 single time zone

L R 4

min = —1.294x10™* & = 1.726x107° max = 1.161x107*
b [ N N SO R S S S S| 1 =
-12  -10 -8 -6 -4 -2 0 2 4 6 8 10 12



12

10

-10

-12

m > 0 density —— Plummer smoothing ¢ = 1/8

10 Meg dt = 1/80 at time = 153

u T L B | B —— L B B — O
424 by 512 polar grid
I~ plot smoothing = 1/4 1
O -0 single time zone
- O =
L ° 4
o
L 0 o 4
min = —1.201x10™* 6 = 1.601x107° max = 1.178x107*
b [ T B | [ [ T B t
-12 -10 -8 -6 -4 -2 0 2 4 6 8 10 12



at time = 154

dt = 1/80
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dt = 1/80 at time =
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m > 0 density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 161
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m > 0 density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 164
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 166
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dt = 1/80 at time =

10 Meg

m > 0 density —— Plummer smoothing ¢ = 1/8
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at time

= 1/80

dt

10 Meg

m > 0 density —— Plummer smoothing ¢ = 1/8
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= 1/80 at time = 169

dt

10 Meg

m > 0 density —— Plummer smoothing ¢ = 1/8
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m > 0 density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 170
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at time = 171

dt = 1/80
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at time = 172

dt = 1/80
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 173
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dt = 1/80 at time =

10 Meg

m > 0 density —— Plummer smoothing ¢ = 1/8
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m > 0 density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 177
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m > O density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 181
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at time = 182

dt = 1/80
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at time

dt = 1/80
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at time

dt = 1/80

10 Meg

m > 0 density —— Plummer smoothing ¢ = 1/8
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m > O density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time =
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at time = 186

dt = 1/80
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m > 0 density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 187
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 188
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m > O density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 190
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at time

dt = 1/80

10 Meg

m > 0 density —— Plummer smoothing ¢ = 1/8
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Plummer smoothing 0 = 1/8
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 193

1 2pF " T 1 T T ‘T T ‘T T T T ' T T T * T T T T 1

424 by 512 polar grid
10 - O plot smoothing = 1/4

single time zone

_4 -
_6 -
Q

_8 - o

%
_10 -

min = —1.261x107* 5§ = 1.681x107° max = 1.106x10™*
12 & \ ] \ ] . 1 . 1 . 1 . 1 . 1 . 1 \ ] \ ] \ ] \
-12 -10 -8 -6 -4 -2 0 2 4 6 8 10 12



at time = 194

dt = 1/80

10 Meg

m > 0 density —— Plummer smoothing ¢ = 1/8

424 by 512 polar grid

plot smoothing = 1/4

single time zone

max = 1.315x107*

§ = 1.753x107°

—1.264x107%

min

6
8
—10 F

-12 k

12

10

-10

-12



at time = 195

= 1/80

dt
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my T T T T T T T T T T T H
o &
L 5S> 28 i
o
s I N
B [}
g g€ 0 «
- N W M ,O .
0 8% %
>~ m £ N~
QO n n ,,H -
NpEE -
<t a I
x
- O -
€
— E,u —
(@]
Y5
- 00 -
=
3 3 ,., 7 = / L
| YR © ]
RS > O 0 AR o T
o % 1e) @ 3 2 & o
I Y (o S
R © X @ W °
X
o % N . i
L 5 . T
o 0 I
(&Y
L o o m i
o
ui 1 1 1 1 1 " 1 1 1 1 1 1 in
| |

12

10

-10

-12



at time = 196

dt = 1/80

10 Meg

m > 0 density —— Plummer smoothing ¢ = 1/8
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at time

dt = 1/80

10 Meg

m > 0 density —— Plummer smoothing ¢ = 1/8
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dt = 1/80 at time =

10 Meg

m > 0 density —— Plummer smoothing ¢ = 1/8
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at time

dt = 1/80

10 Meg

m > 0 density —— Plummer smoothing ¢ = 1/8
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dt = 1/80 at time = 200

10 Meg

m > 0 density —— Plummer smoothing ¢ = 1/8
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m > O density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 201
H T T T T T T T T T T T T T T T T T T =
o 424 by 512 polar grid
I~ plot smoothing = 1/4 1
O single time zone
o
(@)
o (o]
° 0
min = —1.148x107* 6 = 1.53x107° max = 1.027x107*
It L 1 L 1 L 1 L 1 L 1 L 1 1 1 L 1 L 1 11
-12  -10 -8 -6 -4 -2 0 2 6 8 10 12



12

10

-10

-12

m > O density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 202

H T T T T T T T T T T T T T T T T T T T T T T

424 by 512 polar grid
plot smoothing = 1/4
single time zone

O

§ = 1.652x107° = 1.174x107*

= —1.239x107*

in

3

m s 1 s 1 s 1 s 1 s 1 s 1 s 1 s 1 s 1 s 1 s 1

-12 -10 -8 8 10



12

10

-10

-12

m > O density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 203
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m > 0 density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 204
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m > O density —— Plummer smoothing o dt = 1/80
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 206
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 207
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at time
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m > O density —— Plummer smoothing o dt = 1/80
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 210
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m > O density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 211
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 212
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m > 0 density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 213
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m > O density —— Plummer smoothing o dt = 1/80
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m > O density —— Plummer smoothing o dt = 1/80
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 216
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m > O density —— Plummer smoothing dt = 1/80
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m > 0 density —— Plummer smoothing ¢ = 1/8
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m > 0 density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 219
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 220
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m > O density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 221
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m > O density —— Plummer smoothing o dt = 1/80
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m > O density —— Plummer smoothing o dt = 1/80
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at time
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at time

dt = 1/80
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at time

dt = 1/80

10 Meg

m > 0 density —— Plummer smoothing ¢ = 1/8

=) T T T T T T T T T T T T
oF,
L S>¢ |
o
o N
o Il o
L o ° 0
o)
a2¢e <
L =5 g 9 I i
N £ ° ° o
—~ 09 ° —
L 0 oo X
> € .S ~
: 0
| O n n N -
" )
N -
| <+ a I
x
L o i
€
L 0 i
o
X
L © i
I Il
- «© -
b
- o .
X
I 0©
N
|
i Il
L = -
€
ol [ L 1 L L L L L L L L L1
N o @ (o] < (o] o (o)) < (o] 0 o (o]
- - - -
| |

12

10

-10

-12



12

10

-10

-12

m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 268

— Y7777
424 by 512 polar grid
I~ plot smoothing = 1/4
| O single time zone
i o .
I g’ og o
I Q 0 - >
)

I o

Q
" o

50
| N
| min = —1.023x107* 5§ = 1.58x107° max = 1.185x107*
= S R T R R R S N T R B
-12  -10 -8 -6 -4 -2 0 2 4 6 8 10 12



12

10

-10

-12

m > 0 density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 269

H T T T T T T T T T T T T T T T T T T T T T T =
424 by 512 polar grid

I~ plot smoothing = 1/4 1

| O single time zone

- O =

o

: AN

L . i

| min = —1.042x10™% 6 = 1.928x107° max = 1.446x107*

It L 1 L 1 L 1 L 1 L 1 L 1 1 1 L 1 L 1 L 11

-12  -10 -8 -6 -4 -2 0 2 6 8 10 12



12

10

-10

-12

m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 270

H T T T T T T T T T T T T T T T T T =
424 by 512 polar grid

I~ plot smoothing = 1/4 1
O single time zone

L g _

min = —1.277x10™* 6 = 1.725x107° max = 1.294x107*
It L 1 L 1 1 L 1 L 1 L 1 1 1 L 1 L 1 11
-12  -10 -8 -6 -4 -2 0 2 6 8 10 12



12

10

-10

-12

m > O density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 271
H T T T T T T T T T T T T T T T T T T T T =
424 by 512 polar grid
I~ plot smoothing = 1/4 1
| O single time zone
o
L (o)
| min = —1.455x107* 5§ = 1.94x107° max = 1.24x107*
It L 1 L 1 L 1 L 1 1 1 L 1 1 L 1 1 1 11
-12  -10 -8 -6 -4 -2 0 2 4 6 8 10 12



12

10

-10

-12

m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 272

H T T T T T T T T T T T T T T T T =
424 by 512 polar grid

I~ plot smoothing = 1/4 1

| O single time zone

L 5 i

| min = —1.43x107* 5§ = 1.908x107° max = 1.431x107*

It L 1 L 1 1 1 1 L 1 L 1 1 L 1 L 1 1 11

-12  -10 -8 -6 -4 -2 0 2 4 6 8 10 12
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dt = 1/80 at time =
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 320
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m > 0 density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 329
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m > O density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 345
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m > O density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 353
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 356
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 357
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m > 0 density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 359
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 362
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m > 0 density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 363
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m > O density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 364
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 366
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m > 0 density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 369
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m > 0 density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 371
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 372
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 373
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 375
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m > O density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 376
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m > 0 density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 380

PZF—T—T ——T T T T T T T T T T T T T T

424 by 512 polar grid
10 - O plot smoothing = 1/4

single time zone

_10 -
min = —2.074x107* 5§ = 2.765%x107° max = 1.664x107*

12 B 1 A 1 A 1 A 1 A 1 A 1 A 1 A 1 . 1 . 1 . 1

-12 -10 -8 -6 —4 -2 0 2 4 6 8 10 12



12

10

-10

-12

m > O density —— Plummer smoothing o at time = 381

424 by 512 polar grid
plot smoothing
single time zone

max = 1.714x107*

§ = 3.198x107°

min = —2.398x10"




12

10

-10

-12

m > O density —— Plummer smoothing o dt = 1/80

§ = 3.074x107°

min = —2.306x107*

424 by 512 polar grid
plot smoothing = 1/4
single time zone

max = 1.743x107*

6 8 10

at time = 382




m > O density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 383
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 386
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at time = 388
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m > 0 density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 389
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= 1/80 at time = 390
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m > O density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 391
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m > O density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 393
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m > 0 density —— Plummer smoothing 0 = 1/8 10 Meg dt = 1/80 at time = 395
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 396

12 B T T T T T T T T T T T T T T T T T T T T T T

424 by 512 polar grid
plot smoothing = 1/4
single time zone

10

min = —1.62x107% 5§ = 2.278x107° max = 1.708x10™*

12 B 1 A 1 A 1 A 1 A 1 A 1 A 1 A 1 . 1 . 1 . 1

-12 -10 -8 -6 —4 -2 0 2 4 6 8 10 12



12

10

-10

-12

m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 397
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at time = 398

dt = 1/80
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m > 0 density —— Plummer smoothing c = 1/8 10 Meg dt = 1/80 at time = 399
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m > 0 density —— Plummer smoothing ¢ = 1/8 10 Meg dt = 1/80 at time = 400
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